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Ch31% : M543 £ HBHES D57 AN le °—='7|_' o8
Z7|ne ()8 _ ST 2=9
Ao - 4 TEAM 1Q | 2q | 3Q | 4Q | TOT | EX |TOT 715 A

A% MAEZsuN S 2ESSL 27 | 17 | 15 | 17 | 76 76 #eH A M8

CESIES Ar2at

27| 2A| 1 2024-08-30 11:30 sotEstn 12 | 10 | 15 | 17 | 54 54

ZEssm POINTS MIN | 2P | 3P | FT |REB| AS | ST | GD | BS FOULS

=SSHE 1] 20 [ 3a [ 4a [ eEx|TOT 1] 2034 ex[Tor| wlwo[ T ul D
R *[ 2 7 2 | 4 13 | 38:112] 5 | 1 5 [ 1] 3 | 1 1 1 1
FIPeES * 3 7 7 | 21223 2 | 1 1 | 3 1
F 4 8 | 3 11 | 26:33] 1 3 3 2 2 2111
Lol & * 6 4 | 4| 212 12 | 37:17| 6 6 | 7 | 2 2 | 2 4| 22
HeN 10 1:48
2z2 *[11 8 | 2 2 12 | 3447 3 | 2 3 |12 ] 6 1] 2 3| 211
siaAEe(*19 | 8 | 4 | 3 | 6 21 | 38:12 9 | 1 7 | 1] 3 3 |1 1 2111
SEES 25 1:48

TOTAL 27 | 17 | 15 | 17 76 |200:00 26 | 8 25 |24 | 16| 1| 4 | 2]6]3]1 12| 6| 6
2t =
a5 489 Time Outs| 2Q 8:12 | | 3Q 435

SolEstn POINTS MIN | 2P | 3P | FT |REB| AS | ST | GD | BS FOULS

STre = 1] 20 [ 3a [ 4a [ eEx|TOT 1] 2034 ex[Tor| wlwo[ T ul D
ZEfs *[ 2 2 | 5| 4 11 | 33:26] 4 310 6 | 1 1 1 1
EIE * 3 2 2 | 25:05 1 5 2 1
e 5 5:53
e 7 2 | 3 5 | 13:42 1 1 1
FIpT 8 1:48
I 10 2 | 4 6 | 24:52] 3 10 1 1 1
zES *[ 11 3 1] 212 18 | 400000 3 | 2 | 6 | 9 | 2 | 2 2
QX2 12 12:21 1
FTEIPS 13 | 2 | 2 2 6 | 15:08 3 3 [ 1] 2 1] 1 2 2
4ee *15 | 3 3 6 | 24:30 2 1 | 5 1
T 16 1:27 1
e 21 1:48 1

TOTAL 12 110 | 15 | 17 54 12000000 15 | 5 | 9 |41 |15 7 [ 1| 3 | 1] 1] 1]1 4 4
7= olsH
ER L= T Time Outs| 1Q 6:22 2Q 3:29 | | 3Q 5:30
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